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Let P be the transition matrix of a Marka chain

Define D=a - Id t G - o ) P where o Cock

Chain : F is also a transition matrix

Indeed
, fig.

= or Sig.  t ( i - a ) pig. Z 0

pi ,

{
FEE - Otta - d

,⇐.p
= ,

pie

÷÷÷%. ÷ .

④ Galpin
,

P I



Eigenvalues off:
Th = a. It G- a) In osteen - i

-  - .  -
- -

- -
-

- - -

To = 0+6 - a) to =L me -1  ⇒ In
. ,

- a - G . o ) )
¥ = 29 - I

In,
AT

IN
I

In ,
→ 1

,

-3 t 1

Two situations .

, .

8<8 the spectral
① - a An ,

I
,

er gap is

← reduced
T

→ slower convergence

② ¥÷EiE#I¥r the spectral
- a tr

gap
is larger

8 → faster convergence !


